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Aufgabe 35 a )

Die F u n k t i o n s d e f i n i t i o n :
| ?− Af = t o ( Ax , Fx ) , Af = t o ( Fx , FFx ) , Fn = t o ( t u p l e ( Af , Ax ) , FFx ) .

A l l g e m e i n s t e r U n i f i k a t o r :
Af = t o ( Ax , Ax )
FFx = Ax
Fn = t o ( t u p l e ( t o ( Ax , Ax ) , Ax ) , Ax )
Fx = Ax

Ein k o n k r e t e n A u f r u f :
| ?− Tinc = t o ( i n t , i n t ) , T twice = t o ( t u p l e ( t o (A,A) ,A) ,A) ,

T twice = t o ( T i n c f o u r , T t w i c e i n c f o u r ) ,
T i n c f o u r = t u p l e ( Tinc , i n t ) , Av = T t w i c e i n c f o u r .

A l l g e m e i n s t e r U n i f i k a t o r :
A = i n t
Av = i n t
Tinc = t o ( i n t , i n t )
T i n c f o u r = t u p l e ( t o ( i n t , i n t ) , i n t )
T twice = t o ( t u p l e ( t o ( i n t , i n t ) , i n t ) , i n t )
T t w i c e i n c f o u r = i n t

Aufgabe 35b )

Die F u n k t i o n s d e f i n i t i o n :
| ?− Amap = Tfn , Tfn = t o ( t u p l e ( Af , Al ) , Tcase ) ,

Tcase = l i s t (XA) , Tcase = Te2 , Al = l i s t (Ax ) ,
Al = Axs , Te2 = Amapfxs , Te2 = l i s t ( Tfx ) ,
Af = t o ( Ax , Tfx ) , Amap = t o ( t u p l e ( Af , Axs ) , Amapfxs ) .

A l l g e m e i n s t e r U n i f i k a t o r :
Af = t o ( Ax , Tfx )
Al = l i s t (Ax )
Axs = l i s t ( Ax )
Tcase = l i s t ( Tfx )
Te2 = l i s t ( Tfx )
Tfn = t o ( t u p l e ( t o ( Ax , Tfx ) , l i s t ( Ax ) ) , l i s t ( Tfx ) )
Amap = t o ( t u p l e ( t o ( Ax , Tfx ) , l i s t (Ax ) ) , l i s t ( Tfx ) )
Amapfxs = l i s t ( Tfx )
XA = Tfx



Aufgabe 36)

Die F u n k t i o n s d e f i n i t i o n :
| ?− Ae = Tfnl , T f n l = t o ( Al , Tfny ) , Tfny = t o (Ay , Tcase ) ,

Tcase = bool , Tcase = Ti f , Al = l i s t ( Ax ) , Al = Axs ,
Teq = t o ( Beta , t o ( Beta , boo l ) ) , Teq = t o ( Ax , t o ( Ay , boo l ) ) ,
T i f = bool , T i f = T e c a l l , Ae = t o ( Axs , t o (Ay , T e c a l l ) ) .

A l l g e m e i n s t e r U n i f i k a t o r :
Ae = t o ( l i s t ( Ax ) , t o ( Ax , boo l ) )
Al = l i s t (Ax )
Axs = l i s t ( Ax )
Ay = Ax
Beta = Ax
Tcase = boo l
T e c a l l = boo l
Teq = t o ( Ax , t o (Ax , boo l ) )
T f n l = t o ( l i s t (Ax ) , t o ( Ax , boo l ) )
Tfny = t o ( Ax , boo l )
T i f = boo l


